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Note — Answers may be written either in English or in

Hindi: but the same medium should be used

throughout the paper. Use your time judiciously

in order 1 answer guestions.

T gyT-99 & IR Fdw @ B & v e
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TRY | g7 F IeR 2 ¥ RPN T F GG
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ANl guestions are compulsory.

All guestions carry equal marks.
st gv7 sREd & s ge B IF T B
PART - A

wvg - A

State True (T) or False (F). Give reasons for the

same

(a) Convergence of technology has encouraged

g-commerce.

(b) Al the e-companies dealing with goods/packages

cannot be sent over the internet.

(c) One to one marketing is an “All or Nothing”

Propaosition.
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(d) An IP address is a host number represented by
strings of 32 bits.

(&) The concept of supply chain management system
is an integral part of business to business
framework. (2x5=10)

g (T) o @ (F) o1 Jeo@ Irg | 9 IR &
fog FRw wEgd wifeg

(%) AfR & aftve ¥ §-w0R F wgEr 7

(@) agA /A H AU = TN W L-FE R

TR W I9GR AE WA W A |
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2. {a) What do you understand by the term e-commerce ?

How does it differ from e-business ?

P.T.O.
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{b) What are the challenges of the fulfilment and
maintenance phases. Also explain the life cycle
approach ? (5%2=10)

OR

{a) What are the difference between bricks-and-clicks

and pure business model ?

(b) Describe business-to-consumer e-business model.
What are the challenges that e-businesses face in

implementing B2C initiate.
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3. (a) What is asynchronous transfer mode (ATM)
network ? Explain the different layers of ATM

reference model ?

(b) What are the various properties of money transfer
that are being addressed by the ACID test and
ICES test? (5%2=10)

OR

(a) Explain the logical structure of ISO/0S! reference

model.

(b) What is credit card laundering ? What are the

risks associated with credit card laundering ?
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4. (a) What are the features of an on-line service
sector 7 What are the major on-line service

companies ?

(b) How copyright law is different from the patent
law ? (5x2=10)

OR

(a) What factors should be considered while

implementing online retailing initiatives ?

(b) Define intellectual property. Why protecting

intellectual property on the web is difficult ?
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Describe the various types of virtual organisations.
Compare and contrast between different types of

virtual organisations. (10}
OR

Write short notes on any two of the following :

(a) EDI

(h) Pure B2B business model

{c) Digital Certificate

{d) Threat to e-commerce security (5x2=10)
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